op

® 3+a

@ 3+a

® a®

® axaxa

@ a+a+a



olp

9

@ a+bxc ® a+(bxc)

D a+b=+c

® (a+b)xc

@ a+(b=c)



1740 @ 9 AT 10 A2 AL 5000 P& W wo] ALBES
27 hErd A2

@ (5000 -~ ga> el @ (5000 - %a) e
2

® (ga - 5000) o @ (5000 - 4a) €&

® (5000 — 40a) ¥



-3x24+4x-5° 4

34

o

4.

3 7ich

O
—

.
__OO

@

@ x o AgE 4 ol

® -3x* 9] 2k -3 oJth.



5. (4x-6)+2 S AXsHHE?

@ 2x-3 @ 2x+3 @ 3x-2

@ 3x+2 ® 3x+4



A

i

Sto] LrER =Y

(b+¢)
—2a




o =
7. =Y g2 O™ YVlse BEelE s, S Sa kol et

A o2 LehfH?

D § = 2anh R
a+h
@ S =2a(a+h*)n

® S =2an(a+h)

® S =2an(a® + h)



ol

?-
ol
ol
o
o

Bo
T

5741

el
-

]

0

7

—

0
J_,NO

o]

® Aot:

@ t}

oA =2

o

o] -

Nol A 2457t 74 2 el



A}ZHS
2ol Ho
4 o]

o

o
o] el

® ]’ =
29] do
E]]’a
7 Zlol|7 , X o] Zlol7 o] Z (6] )
9] 9] a A AA 9]
].7}—63
——lo—/IEE
ﬂ

1@0
N
~

—_—

1=

]_

a®

|

@ wwe
Aol Zol7ba,
 &ol7t

4ol

= d

712

S

o
>
o

N

o) o]
o] ol

T

2]

® WAE
o]zt al



10. 5-{3x+1-2(x-7)} +7x 5 7t

@6)6 @6x+8

@ 7x+8 ® 7x-10

5]






O A= 5] St ax + by 2t 2 W, a + b 9] G127

(=1 (x+y) = (=11 (x=y) + (= 1) (x=2y) = (-1) 1% (2x+y)

@ -6 @ -4 ® -2 @0 ® 2




—4x2+ax—5+gx2+(

@ 6 @ 12

2
X

® 24



1

11

6

(=4),b=4x-+2
(+4)  b=4x

[}
=

tLH,A:Z’)ax—Qa,B:236—519
Wl shoet
1 13
@ Z)H_?



15. [f]==x
ofl, o= Al4tstodzt.

<=3.7>x[-7]+ <1€4>

1
-3

He}EA) 9L A 2 ASE YT, <> £ v (6] &



